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lxwxh V exwxh
2rt 3 rxrxl2rt1

r r2f2rtlr zr 2rH l2rtl l2rt1 2r3 r24r2 2rt2rt1 2RtlHtt f4r2 4rt zr Veube prism
8r3t8r2t2r 4r2t4r 8831282 6 1 28382
883 1282 6 1 8p3t12r2 6rtl 283 82

61,3 1182 6 1 Umts's

a LCM problem
a

LCM 4,6 107 22 3 5
4 22 4 3 5

6 2 3 60 beads will complete thepattern
10 2 5 61 beads on each strand
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ex Wx h 1440ft3

xx xx 10 1440
Pfeet 10 2 1440

To the base of

144 24 32 4524
the prism is

A 10ft x 10ft2 72 1 4144
Z 36 424 32
2 18 22 3A
2 9 3 12 feet3
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The traction ofthe surface area is
represented by Hrh units 2


